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Assume Any Missing Data
Question # 1s (15 points(A=5 Points , B= 10 Points ))

A- Show how to determine Density Of clay soil in field?
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B- Compaction tests were made on soil sample using both standard and
modified proctor tests , the results were as follows :
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Standard W % 6 9 12 14 16 19 22

,1;:‘;:“' Yslgm/cm®) | 1.733 | 1.852 | 1.939 | 1.992 | 2.008 | 2.003 | 1.956

Modified W % 6 92 12 14 16 18 20

'1;2::“‘ Yplgm/cm3) | 1.818 | 1.974 | 2.118 | 2.138 | 2.082 | 2.043

(i) Plot the Compaction Curves on the same graph and determine the
maximum dry densities and optimum moisture contents
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(i) In the field , If it is required for highway fill embankment to achieve 90 % of the
maximum dry density obtained in the laboratory modified proctor test , what
would be the allowable range of water content in the field
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Question # 2: (10 points(A=3 Points ,B=4 Points , C=3 Points))
A- How to know if the soil in construction site
1-is expansive or not?
2-Organic Soil or not?
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B- How to differentiate between Clay and Silt in both lab. And field (1 way for each)?
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C-How to classify Soil with M.I.T. soil Classification?
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Quegtion # 3 : (15 points)
A- Design a square footing to support column 40 x 40 cm reinforced by 6 O 16
mm and carries a load of 130 t . the net allowable soil pressure is 1.5 kg/cm?
take F .= 50 kg/cm? , F;= 1400 kg/cm? , q5, = 5 kg/cm?, q;, = q, = 10 kg/cm?
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